Exponent Worksheets

Directions: Simplify each expression using the laws of exponents. Use the least number of bases possible and only positive
exponents. When appropriate, express answers without parentheses or as equal to 1, All letters denote numbers.

Pl 11°-11"¢= 23. (;) =

2. |11%-1173= 24. | (18xy)* =
Sl 113-1172 = 25. | (18xy)" =
| 7=7.7° = 26. | (18xy)" =
I 7.7 = 223 (5.27%) =
ol 77 = 28. | (5.27%)* =
7. |(—6)*-(—6)*= 20. | (527%)* =
8. |[(-8)*-(-6)*= 30. | (22%)° =
9 |(-6)*-(-6)"'= 31. | (22'*)° =
10. | (—6)"*- (—6)° = 32. | (22'*)° =
11. | x°-x' = 33. G) -
12 | x*-x*= 34. ('g") =
13 | 2°-x* = 3s. G) " =

1. | (12%)° = 36. (5:.:) -
/
6_-) 12
el (129 = 37. (7.) =
‘__, 13
16. [ (127)" = 38. (6—7-) =
6_2 15
17. (7 ") 4 = 39. (:pr) —
/
~ 10
18 | (79 = w0 | 220 -
: 5 -.7
19. | (779 = 41. "5?’\‘ =
3¢ _ 22a15p32
20. (7) - 2 | ———=
21 (;) - a3 | (7%-49)*% =
[ ¢
22. (:;‘,) - aa. | (36")(2167%) =
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Exponent Worksheets

Directions: Simplify each expression using the laws of exponents. Use the least number of bases possible and only positive
exponents. When appropriate, exprass answers without parenthesas or as equal to 1. All letters denote numbers.

3. & — 1 3 - i 35
8 11°-11" = 11 23. (7) = 75
ri 115-11-9 = 112 24. | (18xy)* = 185x5y5
3 [|11%-112= 113 25. | (18xy)" = 187x7y7
4 |77-P= 26. | (18xy)’ = | o
. 1
&.7 = 1 2 n3 =
= | ! 2= &2 (5.2)6
) 1
.= N3 —
6. |72-7= 1 28. | (8.2%)%= 57
1 1
- 4. 1 - 4y =
7. | (6)*- (6= o3 29. | (5.29 AL
1
- 4. e 630 =
8 |(=6)*-(-6)*= [_f),_ 30. | (22%) 1
—5) 4 - 1= 2120 =
9. | (—6)* (—6) =3 31 | (221 1
1 .
- 4. O - e 1500 -
10. | (-6)7*-(—6)°= e 32 | (22'%) 1
P 1 "t 5*
11 | x*-xt = x 33. (5 - =
0. gl = » 4 b_ 5(.
=l T 7 il “1() = g
0. gl = 3 7 - 57
13. | x"-x*'= x 35. (5 __“ T
(12:.)-) = 12“ 35. (6_:;) - 622755
=
- 12
1s. | (12%)" = 12% 37. {67.\ = 624740
\T T
6_1 13
16 | (127)' = 126 8 7—) = 626765
=
6_2 15
17. | 794 = 712 3. (7—) = 630775
7
4ﬂablu
18. | (79 = 716 40. e - 3al0p?
sxy’? &
1 7-5)4 = 720 41 — x
19. | (77) — —
3 ] 3ﬂ ::alsb:‘z 2““b37
3 — 2 42 | —= el
* (7) 78 121ab~5 11
2 | (3) = > a3, | @495 = 7%
6
2 |(3) = - as. | 367)(216%) = 62

Go to onlinemathlearning.com for more free math resources




